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QUESTION 1

Observe the diagram. 

RTC is the hub router and RTA and RTB are the spokes. There are no virtual circuits between the spoke locations.
What is needed to successfully route traffic to the 11.11.11.0/24 network from RTA? 

A. The neighbor 10.10.10.1 next-hop-self command on RTA. 

B. The neighbor 10.10.10.1 next-hop-self command on RTB. 

C. The neighbor 10.10.10.1 next-hop-self command on RTC. 

D. Nothing is required. This is the default behavior on this topology. 

Correct Answer: C 

The following example illustrates the issue: BGP Next Hop (NBMA) 
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If the common media as you see in the shaded area above is a frame relay or any NBMA cloud then the exact behavior
will occur as if we were connected via Ethernet. RTC will advertise 180.20.0.0 to RTA with a next hop of 170.10.20.3.
The problem is that RTA does not have a direct PVC to RTD, and cannot reach the next hop. In this case routing will
fail. In order to remedy this situation a command called next-hop-self is created. The next-hop-self Command Because
of certain situations with the next hop as we saw in the previous example, a command called next-hop-self is created.
The syntax is: neighbor {ip-address|peer-group-name} next-hop-self The next-hop-self command allows us to force BGP
to use a specified IP address as the next hop rather than letting the protocol choose the next hop. In the previous
example, the following configuration solves our problem: RTC# router bgp 300 neighbor 170.10.20.1 remote-as 100
neighbor 170.10.20.1 next-hop-self RTC advertises 180.20.0.0 with a next hop = 170.10.20.2 Reference:
http://www.cisco.com/warp/public/459/bgp-toc.html#bgpnexthop 

 

QUESTION 2

Refer to the exhibit. 

EIGRP has been configured on all routers in the network. What additional configuration statement should be included on
router R4 to advertise a default route to its neighbors? 
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A. R4(config)# ip default-network 10.0.0.0 

B. R4(config)# ip route 0.0.0.0 0.0.0.0 10.1.1.1 

C. R4(config)# ip route 10.0.0.0 255.0.0.0 10.1.1.1 

D. R4(config-router)# default-information originate 

Correct Answer: A 

Unlike the ip default-gateway command, you can use ip default-network when ip routing is enabled on the Cisco router.
When you configure ip default- network the router considers routes to that network for installation as the gateway of last
resort on the router. For every network configured with ip default-network, if a router has a route to that network, that
route is flagged as a candidate default route. Gateways of last resort selected using the ip default-network command are
propagated differently depending on which routing protocol is propagating the default route. For IGRP and EIGRP to
propagate the route, the network specified by the ip default-network command must be known to IGRP or EIGRP. This
means the network must be an IGRP- or EIGRP- derived network in the routing table, or the static route used to
generate the route to the network must be redistributed into IGRP or EIGRP, or advertised into these protocols using the
network command. In this case, the 10.0.0.0 network is indeed being advertised via EIGRP. 

Reference: http://www.cisco.com/en/US/tech/tk365/technologies_tech_note09186a0080094374.shtml#ip network 

 

QUESTION 3

Click and drag the associated set of OSPF LEAs on the left to the corresponding area type on the right where this set of
LEAs may be seen. 

Select and Place: 

Correct Answer:  
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QUESTION 4

Which three statements are true regarding EIGRP? (Choose three.) 

A. By default, EIGRP performs auto-summarization across classful network boundaries. 

B. EIGRP uses an area hierarchy to increase network scalability. 

C. To speed convergence, EIGRP attempts to maintain a successor and feasible successor path for each destination. 

D. EIGRP uses hellos to establish neighbor relationships. 

E. By default, EIGRP uses the Dijkstra algorithm to determine the best path to a destination network based on
bandwidth and delay. 

Correct Answer: ACD 

Reference: 

http://ptgmedia.pearsoncmg.com/images/1587131706/samplechapter/1587131706content.pdf (See page 66 which is
the 2nd page of this pdf) 

 

QUESTION 5

Which statement about a non-zero value for the load metric (k2) for EIGRP is true? 

A. A change in the load on an interface will cause EIGRP to recalculate the routing metrics and send a corresponding
update out to each of its neighbors. 

B. EIGRP calculates interface load as a 5-minute exponentially weighted average that is updated every 5 minutes. 

C. EIGRP considers the load of an interface only when sending an update for some other reason. 
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D. A change in the load on an interface will cause EIGRP to recalculate and update the administrative distance for all
routes learned on that interface. 

Correct Answer: C 

The load metric (k2) represents the worst load on a link between source and destination. EIGRP routing updates are
triggered only by a change in network topology (like links, interfaces go up/down, router added/removed), and not by
change in interface load or reliability. The load is a five minute exponentially weighted average that is updated every five
seconds (not five minutes) . 

EIGRP considers the load of an interface only when sending an update for some other reason (like a link failure) 
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